Pre-assessment and Post-assessment
Life Science
[bookmark: _GoBack] Standard: MS-LS3-2   Develop and use a models to describe why asexual reproduction results in offspring with identical genetic information and sexual reproduction results in offspring with genetic variation.   

Cheryl Schaeffer and Elizabeth Dooley


Two parents are carriers for cystic fibrosis.  Cystic fibrosis is a recessive trait.  Design a model that will demonstrate the probability of the offspring inheriting cystic fibrosis.  






If the parents in the previous question have four children, is it possible for any of the children to NOT have cystic fibrosis? Explain your answer.  



Explain how sexual reproduction causes genetic variations.  Explain how asexual reproduction results in no genetic variations.
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